(1)

(2)

(1)

(2)

(3)

(4)

(1)

dB(A)

dB(A)

(A

B(A

dB(A)
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dB(A)

B(A

dB(A)

dB(A)



dB(A)

31.5m| 63m | 125m | 250m | 500m |1, 000m 2, 000m 4, 000m 8, 000m

130.5| 124.2| 117.9| 111.2| 104.0f 96.0| 86.9| 76.1| 63.2

111. 6| 105.5| 99.5| 93.2| 86.8| 80.1] 72.8| 64.4| 54.3

117.5| 111. 3| 105.1| 98.6| 91.6| 84.0| 75.4| 65.3| 53.1

103.7| 97.4| 91.1| 84.4] 77.5| 70.2| 62.3] 53.7| 43.8

(2)

(3)

(A
B(A
B(A
dB(A
dB( A
dB(A
B(A
dB(A
dB(A
(&) (dB(A)
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(1)

(2) dB(A
(3
16 13 14 18 22 )
70dB 80dB 90dB
100dB

80dB 90dB 100dB
75| 15.0| 355 50| 630
(0.0)| (85| (27.0)| (1.5 (37.0)
150 | 12.5 4.0 3.0| 345
(7.5 (10.0)| (3.00| (0.5 (21.0)
15.0 2.0 0.5 0.0 | 17.5
0.5 0.0 0.0 0.0 0.5
3.0 2.0 0.0 0.0 5.0

17 18 19 21 22 18 22
70dB 80dB 90dB
100dB

80dB 90dB 100dB
23.5 | 17.3 1.0 2.5 | 44.3
(21.0)| (14.8)| (0.5 | (0.0)| (36.3)
15| 13.0| 780 3.0| 955
(L.0)| (7.5)| (71..8)| (0.0)| (80.3)
49. 8 2.0 1.8 0.0| 535
3.0 0.8 0.3 0.0 4.0
4.3 5.8 0.3 0.5| 10.8
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14
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